TOTAL

LKK Auto Consultants hence holling AUTO PTE LTD

INSURANCE:

the Repairer of the following:

To resurvey before/after spray painting

To display damaged part(s) during resurvey

REPAIR ESTIMATE Parts prices are subject to confirmation

• Third party survey is on a "Without Prejudice" basis

No illegal modification(s) is allowed

DATE: Supplementary item(s) 11st 15le 24 eyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

MODEL: TOYOTA PRIUS

Signature:

Date:

VEHICLE NO .:

SHC 7899 S

1KK Auto

DESCRIPTION	QTY	LIST PRICE	AMOUNT	
REAR TRUNK LID COVER BNL	1	\$1,303.29	\$1,303.29	~
REAR TRUNK LID LOCK	1	\$530.79	\$530.79	
REAR TRUNK LID LOCK COVER	1	\$ 129.80	\$129.80	×
REAR TRUNK LID LOCK SWITCH	1	\$ 468.90	\$468.90	*
REAR TRUNK LID COVER TRIM BOARD	1	\$254.40	\$254.40	
Boot Lid Trimboard, Centre	1	\$159.60	\$ 159.60	
Boot Lid Trimboard SIDE (LH/RH)	2	\$92.50	\$ 185.00	×
Boot Lid Trimboard REAR	1	\$124.80	\$124.80	×
BOOT HANDLE	1	\$31.80	\$31.80	×
REAR TRUNK LID RUBBER dyanol	1	\$365.20	\$365.20	~
REAR TRUNK LID GLASS (BLACK COLOR) Shatten	1	\$969.70	\$969.70	
GARNISH SUB-ASSY, BACK DOOR, OUTSIDE	1	\$1,054.71	\$1,054.71	913.60
REAR TRUNK LID LOGO (PRIUS)	1	\$62.14	\$62.14	
REAR TRUNK LID LOGO (HYBRID)	1	\$62.14	\$62.14	
REAR TRUNK LID LOGO (TOYOTA STAR)	1	\$81.43	\$81.43	
THIRD BRAKE LIGHT Some Moloral	1	\$394.70	\$394.70	1
REAR TRUNK LID STRIKER	1	\$98.70	\$98.70	X
REAR TRUNK LID HINGE (LH/RH)	2	\$189.50	\$379.00	*
REAR TRUNK LID ABSORBER (LH/RH)	2	\$287.50	\$575.00	 /
REAR TRUNK LID ABSORBER BRACKET (LH/RH)	2	\$127.90	\$255.80	\
REAR TRUNK LID STOPPER (LH/RH)	2	\$84.80	\$169.60	*
SPOILERSUB-ASSY, REAR how Miles	1	\$1,787.79	\$1,787.79	1278.15
REAR WINDSCREEN GLASS W/ MOULDING 8h who	1	\$1,884.32		
ROOF TOP CENTER COVER - BLACK	1	\$956.30	\$956.30	
	1	\$136.80	\$136.80	
ROOF TOP GARNISH SUB, RH	1	\$136.80	\$136.80	

REAR NO. PLATE LAMP LH/RH	2	\$163.50	\$327.00	*
MOTOR ASSY, REAR WIPER HA	1	\$734.60	\$734.60	X
ARM ASSY, REAR WIPER HA	1	\$84.70	\$84.70	4
BLADE ASSY, REAR WIPER	1	\$55.00	\$55.00	X
REAR BUMPER book	1	\$503.04	\$503.04	-
REAR BUMPER RE-INFORCEMENT	1	\$378.32	\$378.32	V
REAR BUMPER LOWER COVER broke	1	\$654.96	\$654.96	1
REAR BUMPER SIDE RETAINER	2	\$112.70	\$225.40	X
REAR BUMPER TOWING COVER	1	\$82.70	\$82.70	
REAR BUMPER CLIPS	1	\$22.00	\$22.00	1
REAR BUMPER SIDE CLIP	2	\$25.00	\$50.00	X
REAR BUMPER UPPER STOPPER (LH/RH)	2	\$76.40	\$152.80	X
SEAL, REAR BUMPER SIDE, LH/RH	2	\$148.40	\$296.80	X
REAR BUMPER UNDER SIDE COVER (LH/RH)	2	\$232.00	\$464.00	X
ARM SUB-ASSY, REAR BUMPER, (LH/RH)	2	\$139.60	\$279.20	X
REAR BUMPER REVERSE SENSOR Daw	1	\$235.70	\$235.70	~
REAR BUMPER UNDER COVER (CENTER) and which	1	\$773.64	\$773.64	~
TAIL LAMP ASSY (UPPER) 0/8 broke H/3 H	2	\$557.90	\$1,115.80	4
TAIL LAMP ASSY (LOWER) \$ 5 broken HIS HA	2	\$570.00	\$1,140.00	U
TAIL LAMP QUARTER PANEL 0/5 Dented + 5 -	2	\$216.00	\$432.00	W
TAIL LAMP SIDE COVER WH	2	\$256.00	\$512.00	X
REAR TAILLAMP GUIDE - WHITE	1	\$95.30	\$95.30	X
REAR END PANEL Dowl	1	\$738.96	\$738.96	~
REAR END PANEL GARNISH	1	\$294.80	\$294.80	1
REAR SPARE TYRE PANEL	1	\$960.80	\$960.80	4
REAR END PANEL GARNISH COVER HA	1	\$ 138.90	\$138.90	7
REAR SPARE TYRE CUSHION (FLR BOARD CENTRE)	1	\$668.90	\$668.90	7
REAR FIBER TOOL BOX TRIM (LH/RH) of S broke H 3 H	2	\$598.00	\$1,196.00	W
REAR FIBER TOOL BOX CENTER	1	\$186.20	\$186.20	X
SPARE TYRE LOCK NUT	1	\$88.40	\$88.40	X
SPARE TYRE LOCK NUT BRACKET HA	1	\$113.50	\$113.50	1
SPARE TYRE SIDE PANEL (LH/RH)	2	\$287.30	\$574.60	X
REAR EXHAUST PIPE RH	1	\$1,163.40	\$1,163.40	1
REAR EXHAUST PIPE HANGER	1	\$40.70	\$40.70	X
REAR EXHAUST PIPE INSULATOR	1	\$314.60	\$314.60	X
REAR FENDER, RH	1	\$992.04	\$992.04	1
Front Fender Upper Garnish(RH)	1	\$267.50	\$ 267.50	X

982 6618-06

REAR FENDER SHIELD (RH)		1	\$174.20	\$174.20	X
REAR FENDER TRIMBOARD (RH)		1	\$725.00	\$725.00	X
REAR FENDER TOP COVER (BLACK COLOR)(RH)		1	\$301.10	\$301.10	+
REAR FENDER AIR DUCT de mul		1	\$165.10	\$165.10	
				¢20 279 47	12,204.
SUB TOTAL		-		\$30,278.17	12 2014
ESS 20% 057.				\$6,055.63	12,209.
DISCOUNTED TOTAL				\$24,222.54	
REVERSE CAMERA ASSY Sv	SN	1	\$380.00	\$380.00	*
REAR TRUNK LOWER W/S MOULDING	SN	1	\$180.00	\$180.00	*
REAR LOWER W/S SEALANT 40	SN	1	\$46.00	\$46.00	
REAR WINDSCREEN SEALANT LLC	SN	1	\$46.00	\$46.00	
REAR NO. PLATE WITH COVER	SN	1	\$100.00	\$100.00	45 -
REAR TRUNK LID APPS STICKER	SN	1	\$40.00	\$40.00	~
REAR TRUNK LID COMFORT & TEL NO. STICKER LL	SN	1	\$60.00	\$60.00	
REAR BUMPER RUBBER MAT	SN	1	\$50.00	\$50.00	
REAR FENDER ADVERTISEMENT LOGO (RH)	SN	1	\$100.00	\$100.00	
SUB TOTAL				\$1,002.00	387-10)
SUB TOTAL					
Labour Charge					12221
Panel Beating		1	\$2,400.00	\$2,400.00	1
Spray Painting Charge		1	\$2,000.00	\$2,000.00	
Wiring Charge		1	\$100.00	\$100.00	
Tuff Kote		1	\$100.00	\$100.00	1
		1 1	\$80.00	\$80.00	
Towing Charge		-			LU .
		1	\$150.00	\$1 50.00	
Towing Charge			\$150.00 \$120.00	\$1 50.00 \$240.00	801-
Towing Charge Remove/Refix Cushion & Upholstery Rear		1			HM 801-
Towing Charge Remove/Refix Cushion & Upholstery Rear Remove/Refix Rear Windscreen Glass		1 2	\$120.00	\$240.00	>030-W) HM 80(-

2

This is an initial estimate based on a visual inspection of the above vehicle. The final repair quantum will be prepared after the vehicle is surveyed by a motor Surveyor appointed by the insurance company. Please send your book value request to: claims_ltr@bifrostauto.com

4 (> 14,300)-

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars	
Owner ID Type:	Company
Owner ID: Vehicle Details	839G
Vehicle No.:	SHC7899S
Vehicle to be Exported:	No
Intended Deregistration Date:	31 Jul 2024
Vehicle Make:	TOYOTA
Vehicle Model:	PRIUS 5DR HATCHBACK (AUTO)
Primary Colour:	Yellow
Manufacturing Year:	2018
Engine No.:	2ZR2C13921
Chassis No.:	JTDKB3FU703080345
Maximum Power Output:	90.0 kW (120 bhp)
Open Market Value:	\$26,605.00
Original Registration Date:	15 May 2019
First Registration Date:	15 May 2019
Transfer Count:	0
Actual ARF Paid: Intended PARF Rebate Details	\$14,247.00
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	14 May 2027
PARF Rebate Amount: Intended COE Rebate Details	\$9,972.00
COE Expiry Date:	14 May 2027
COE Category:	A - Car up to 1600cc & 97kW (130bhp)
COE Period(Years):	8
PQP Paid:	\$22,309.00
COE Rebate Amount:	\$7,773.00
Total Rebate Amount: Message	\$17,745.00

Please note that the 8-year COE for this vehicle cannot be further renewed. The vehicle must be deregistered once the COE expires, or when it reaches its statutory lifespan (if applicable), whichever is earlier.

The information contained herein is correct as at 09 Jul 2024

BIFROST AUTO PTE LTD

SUPPLEMENTARY

١		٨	T		,
	u	м	ı	ᆮ	

19-Jul-24

INSURANCE:

MODEL:

TOYOTA PRIUS

VEHICLE NO .:

SHC 7899 S (S)

DESCRIPTION		QTY	LIST PRICE	AMOUNT	1 (
FRONT WHEEL RIM ()		1	\$1,570.55	\$1,570.55	1655.6
FRONT WHEEL RIM CAP		1	\$189.60	\$189.60	×
SUB TOTAL				\$1,760.15	
LESS 20% 0 540				\$352.03	
DISCOUNTED TOTAL				\$1,408.12	
FRONT TYRE (LH) (14 503	SN	1	\$216.00	\$216.00	108-20
SUB TOTAL				\$216.00	
ESTIMATE TOTAL				\$1,624.12	

This is an initial estimate based on a visual inspection of the above vehicle. The final repair quantum will be prepared after the vehicle is surveyed by a motor Surveyor appointed by the insurance company. Please send your book value request to: claims_ltr@bifrostauto.com

1274.70

2 KK

Audi

Stic 78998 Brok Value DUA 04/07/2024.

Total Prohese Cost = 75,983.40

hess 7ARF 8,548.20 = 67, 435.20 a6

Deple per montr = 702.45 + 34

Belace lenening. 34 month = 23,883.30

add PARE 8,548.20 = 32, 431.50

Less LTA reporte = 32,431.50-17,745.00

Hutt Value = 14,686.50